
O
1

8
0

H
8

7

15

155

O320

O255

2
9

0

O16

2
5

0

R35
84 30

O
2

5

82

87

O
5
0
h
6

M16x35

82

87

O
5
0
h
6

M16x35

14

5
3
.5

82

87

O
5
0
h
6

M16x35

14

5
3
,8

72 72

200

Tuleja zdawcza

95

144 53275

6
3

7
2

1
0

2tm

Dm

bm

170

240

1
8

O
1

8

O
1

8
0

h
8

O215

1
7

0
1

5
04

0
0

3
0

0

185

200

145

192

M12x21

P
m

5.9. TM-063 + TM-150 

n1  

[1/min] 

n2  

[1/min] 
i i1 i2 d 

P1  

[kW] 

MN  

[Nm] 

PS  

[kW] 

M2  

[Nm] 
f 

1
4

0
0

 
4,67 300 20 15 0,54 1,21 1340 1,1 1220 1,1 

3,50 400 20 20 0,49 1,21 1620 1,1 1480 1,09 

2,80 500 25 20 0,48 1,28 2100 1,1 1800 1,17 

2,33 600 20 30 0,44 1,11 2000 1,1 1980 1,01 

1,87 750 25 30 0,43 0,91 2000 0,75 1650 1,21 

1,56 900 30 30 0,4 0,81 2000 0,75 1840 1,09 

1,17 1200 40 30 0,39 0,63 2000 0,55 1760 1,14 

0,93 1500 50 30 0,36 0,54 2000 0,55 2030 0,99 

0,78 1800 60 30 0,33 0,49 2000 0,37 1500 1,33 

0,58 2400 60 40 0,28 0,46 2100 0,37 1700 1,24 

0,44 3200 80 40 0,26 0,37 2100 0,37 2100 1,00 

0,35 4000 80 50 0,24 0,31 2000 0,25 1640 1,22 

0,29 4800 80 60 0,23 0,27 2000 0,25 1880 1,06 

 

silnik Pm Dm bm tm 

63B5 140 11 4 12,8 

71B14 105 14 5 16,3 

71B5 160 14 5 16,3 

80B14 120 19 6 21,8 

80B5 200 19 6 21,8 

59


